PAPER DETAILS

TITLE: Employing the exp \$(-\varphi(z))\$ - Expansion Method to Find Analytical Solutions for a

(2+1)-dimensional Combined KdV-mKdV Equation

AUTHORS: Baixin CHEN, Yongyi GU

PAGES: 257-265

ORIGINAL PDF URL: https://dergipark.org.tr/tr/download/article-file/2465983



Fundamental Journal of Mathematics and Applications

Journal Homepage: www.dergipark.org.tr/en/pub/fujma ISSN: 2645-8845 doi: https://dx.doi.org/10.33401/fujma.1125858



Employing the $\exp(-\varphi(z))$ -Expansion Method to Find Analytical Solutions for a (2+1)-dimensional Combined KdV-mKdV Equation

Baixin Chen¹ and Yongyi Gu^{1*}

¹School of Statistics and Mathematics, Guangdong University of Finance and Economics, Guangzhou 510320, China

*Corresponding author

Article Info	Abstract
Keywords:Analytical solutions,Combined KdV - $mKdV$ equation, $Exp(-\varphi(z))$ -expansion method2010 AMS:35C07, 35C08Received:4 June 2022Accepted:9 October 2022Analyticable online:5 November 2022	In this paper, we obtain exact solutions of the (2+1)-dimensional combined KdV-mKdV equation by using a symbol calculation approach. First, we give some background on the equation. Second, the $\exp(-\varphi(z))$ -expansion method will be introduced to solve the equation. After, using the $\exp(-\varphi(z))$ -expansion method to solve the equation, we can get four types of exact solutions, which are hyperbolic, trigonometric, exponential, and rational function solutions. Finally, we can observe the characteristics of the exact solutions via
Available online: 5 November 2022	computer simulation more easily.

1. Introduction

Seeking the exact solutions of nonlinear partial differential equations (NLPDEs) is a hotspot in nonlinear science research and the related theory has developed rapidly in recent decades. Because many nonlinear phenomena existing in nature and various fields can be described as NLPDEs. More importantly, the solutions of NLPDEs can account for these complex phenomena as well as applying in these fields [1]-[12], such as atmosphere, optical fiber communications and fluid mechanics. There is a series of NLPDEs, for example, the KdV equation, the KP equation and the Schrödinger equation. Also, there are many effective methods to search exact solutions of NLPDEs, such as Lie symmetry [13], the Hirota bilinear method [14, 15], the extended complex metho d[16], and the $\exp(-\varphi(z))$ -expansion method [17]. Particularly, the $\exp(-\varphi(z))$ expansion method first proposed by Zhao and Li [17] can be used to attain analytical traveling wave solutions of numerous NLPDEs, such as the combined KdV-mKdV equation[18], the (1+1)-dimensional classical Boussinesq equations [19] and the Caudrey-Dodd-Gibbon-Sawada-Kotera equation [20].

As we all know, the KdV equation becoming a kind of classical nonlinear partial differential equations can be used to describe small amplitude shallow water waves, stratified internal waves, ion acoustic waves and its model has great practical value in many fields [21]-[23], such as plasma physics, solid state physics and fluid mechanics. With the development of soliton theory and the in-depth research in the KdV equation, we fully understand the properties of it and its abundant solutions. Meanwhile, various extensions of KdV equations are derived. More recently, Wang and Kara [24] built the new (2+1)-dimensional KdV and mKdV equations as

$$u_t - 6uu_x + 6uu_y - u_{xxx} + u_{yyy} + 3u_{xxy} - 3u_{xyy} = 0$$
(1.1)

Email address and ORCID number: gdguyongyi@163.com, 0000-0002-6651-1714 (Y. Gu), baixinchen2022@163.com, 0000-0002-6064-484X (B. Chen)



$$u_t - 6u^2 u_x + 6u^2 u_y - u_{xxx} + u_{yyy} + 3u_{xxy} - 3u_{xyy} = 0$$
(1.2)

Then Malik et al. [25] proposed the (2+1)-dimensional combined KdV-mKdV equation by combining them, which is given by:

$$u_t - a_1 u u_x + a_1 u u_y - a_2 u^2 u_x + a_2 u^2 u_y - a_3 u_{xxx} + a_3 u_{yyy} + a_4 u_{xxy} - a_4 u_{xyy} = 0$$
(1.3)

By considering $a_1 = 6, a_2 = 0, a_3 = 1, a_4 = 3$ and $a_1 = 0, a_2 = 6, a_3 = 1, a_4 = 3$, Eq.(1.3) reduces to Eqs.(1.1) and (1.2) respectively. Additionally, although the authors have obtained the analytical solutions to the combined KdV-mKdV equation in [18], the (2+1)-dimensional combined KdV-mKdV equation in [25] has more dimensions and the mixed partial derivatives in contrast to the former, which means a much broader researching space for scholars. Therefore, it makes sense to research the the (2+1)-dimensional combined KdV-mKdV equation deeply. The integrability of the equation and some forms of its solutions are illuminated in Sandeep Malik's paper. In this article, we use the $\exp(-\varphi(z))$ -expansion method to attain exact solutions to the (2+1)-dimensional combined KdV-mKdV equation and observe the characteristics of them by computer simulation, which can obtain more abundant solutions to the equation and indicate the validity of the $\exp(-\varphi(z))$ -expansion method. The results and simulations are gained by using Maple.

2. The $\exp(-\varphi(z))$ -expansion method

Considering the following nonlinear PDE:

$$F(u, u_x, u_y, u_t, u_{xx}, u_{yy}, u_{tt}, \cdots) = 0,$$
(2.1)

in which *F* is a polynomial of the unknown function u(x, y, t) and its partial derivatives, and it also involves nonlinear terms. Step 1. Insert traveling wave transform

$$u(x,y,t) = u(z), \quad z = \kappa x + \lambda y + \omega t,$$

into Eq.(2.1) to reduce it into the ODE,

$$P(u, u', u'', u''', \cdots) = 0, \tag{2.2}$$

in which P is a polynomial of u and its derivatives, while $' := \frac{d}{dz}$.

Step 2. Assume that the exact solutions of Eq.(2.2) have the following form:

$$u(z) = \sum_{\nu=0}^{n} C_{\nu}(\exp(-\varphi(z)))^{\nu},$$
(2.3)

in which C_{v} , $(0 \le v \le n)$ are constants to be determined later, such that $C_{n} \ne 0$ and $\varphi = \varphi(z)$ satisfies the ODE as follows:

$$\varphi'(z) = b_1 + \exp(-\varphi(z)) + b_2 \exp(\varphi(z)).$$
(2.4)

where b_1 and b_2 are constants and the solutions of Eq.(2.4) are given as below: When $b_1^2 - 4b_2 > 0$, $b_2 \neq 0$,

$$\varphi(z) = \ln\left(\frac{-\sqrt{(b_1^2 - 4b_2)} \tanh(\frac{\sqrt{b_1^2 - 4b_2}}{2}(z + \varsigma)) - b_1}{2b_2}\right),\tag{2.5}$$

$$\varphi(z) = \ln\left(\frac{-\sqrt{(b_1^2 - 4b_2)}\coth(\frac{\sqrt{b_1^2 - 4b_2}}{2}(z+\zeta)) - b_1}{2b_2}\right).$$
(2.6)

When $b_1^2 - 4b_2 < 0, b_2 \neq 0$,

$$\varphi(z) = \ln\left(\frac{\sqrt{(4b_2 - b_1^2)}\tan(\frac{\sqrt{(4b_2 - b_1^2)}}{2}(z + \zeta)) - b_1}{2b_2}\right),\tag{2.7}$$

$$\varphi(z) = \ln\left(\frac{\sqrt{(4b_2 - b_1^2)}\cot(\frac{\sqrt{(4b_2 - b_1^2)}}{2}(z + \zeta)) - b_1}{2b_2}\right)$$
(2.8)

When $b_1^2 - 4b_2 > 0$, $b_1 \neq 0$, $b_2 = 0$,

$$\varphi(z) = -\ln\left(\frac{b_1}{\exp(b_1(z+\zeta)) - 1}\right). \tag{2.9}$$

When $b_1^2 - 4b_2 = 0$, $b_1 \neq 0$, $b_2 \neq 0$,

$$\varphi(z) = \ln\left(-\frac{2(b_1(z+\zeta)+2)}{b_1^2(z+\zeta)}\right).$$
(2.10)

When $b_1^2 - 4b_2 = 0$, $b_1 = 0$, $b_2 = 0$,

$$\varphi(z) = \ln(z + \zeta). \tag{2.11}$$

in which ζ is an arbitrary constant and $C_n \neq 0, b_1, b_2$ are constants in Eqs.(2.5)-(2.11). Considering the homogeneous balance between the highest order derivatives and nonlinear terms of Eq.(2.2), we define the degree of u(z) as D(u(z)) = n and the positive integer *n* can be ascertained by the following expressions

$$D\left(\frac{d^{\alpha}u}{dz^{\alpha}}\right) = n + \alpha, D\left(u^{\beta}\left(\frac{d^{\alpha}u}{dz^{\alpha}}\right)^{s}\right) = n\beta + s(n+\alpha).$$
(2.12)

Step 3. Plugging Eq.(2.3) into Eq.(2.2), we obtain a polynomial of $\exp(-\varphi(z))$. Then collect all terms with the same power about $\exp(-\varphi(z))$ and let the coefficients of them equal zero respectively. After that, we get a set of algebraic equations and by solving them we confirm the values of $C_n \neq 0, b_1, b_2$. Finally, we substitute the obtained values into Eq.(2.3) as well as Eqs.(2.5)-(2.11) to achieve the determination of the exact solutions for the original PDE.

3. Exact solutions of the (2+1)-dimensional combined KdV-mKdV equation

Substituting traveling wave transform

$$u(x,y,t) = u(z), \quad z = \kappa x + \lambda y + \omega t,$$

into Eq.(1.3) and then integrating it, we obtain

$$u + (\frac{1}{2}a_1\lambda - \frac{1}{2}a_1\kappa)u^2 + (\frac{1}{3}a_2\lambda - \frac{1}{3}a_2\kappa)u^3 + (a_3\lambda^3 - a_3\kappa^3 + a_4\kappa^2\lambda - a_4\kappa\lambda^2)u'' + \delta = 0.$$
(3.1)

where δ is the integration constant.

Taking the homogeneous balance between u^3 and u'' of Eq.(3.1) according to Eqs.(2.12), we can yield n = 1 and hence

$$u(z) = C_0 + C_1 \exp(-\varphi(z)), \qquad (3.2)$$

where $C_1 \neq 0$, C_0 are constants.

Plugging u, u^2, u^3, u'' into Eq.(3.1) and equating the coefficients with the same order of $\exp(-\varphi(z))$ to zero, we obtain

$$\begin{split} e^{0(-\varphi(z))} &: \omega C_0 + 1/2 a_1 \lambda C_0^2 - 1/2 a_1 \kappa C_0^2 + 1/3 a_2 \lambda C_0^3 \\ &- 1/3 a_2 \kappa C_0^3 + \delta - C_1 \kappa^3 a_3 b_1 b_2 + C_1 \lambda^3 a_3 b_1 b_2 \\ &- C_1 a_4 \kappa \lambda^2 b_1 b_2 + C_1 a_4 \kappa^2 \lambda b_1 b_2 = 0 \\ e^{1(-\varphi(z))} &: - C_1 a_3 b_1^2 \kappa^3 + C_1 a_3 b_1^2 \lambda^3 + C_1 a_4 b_1^2 \kappa^2 \lambda \\ &- C_1 a_4 b_1^2 \kappa \lambda^2 - 2 a_3 \kappa^3 b_2 C_1 + 2 a_3 \lambda^3 b_2 C_1 \\ &+ 2 C_1 \lambda a_4 b_2 \kappa^2 - 2 C_1 \lambda^2 a_4 b_2 \kappa - C_0^2 C_1 a_2 \kappa \\ &+ C_0^2 C_1 a_2 \lambda - C_0 C_1 a_1 \kappa + C_0 C_1 a_1 \lambda \\ &+ C_1 \omega = 0 \\ e^{2(-\varphi(z))} &: - 3 C_1 a_4 \kappa \lambda^2 b_1 + 3 C_1 a_4 \kappa^2 \lambda b_1 + 1/2 a_1 \lambda C_1^2 \\ &- 1/2 a_1 \kappa C_1^2 + a_2 \lambda C_0 C_1^2 - a_2 \kappa C_0 C_1^2 \\ &- 3 C_1 a_3 \kappa^3 b_1 + 3 C_1 a_3 \lambda^3 b_1 = 0 \end{split}$$

$$e^{3(-\varphi(z))} :- 2C_1 a_3 \kappa^3 + 2C_1 a_3 \lambda^3 + 1/3 a_2 \lambda C_1^3 - 1/3 a_2 \kappa C_1^3 - 2C_1 a_4 \kappa \lambda^2 + 2C_1 a_4 \kappa^2 \lambda = 0$$

Having solved the above algebraic equations, we get two different cases:

Case 1.

$$C_{0} = \frac{\sqrt{-6a_{2} (a_{3} \kappa^{2} + a_{3} \kappa \lambda + a_{3} \lambda^{2} - a_{4} \kappa \lambda)b_{1} - a_{1}}}{2a_{2}},$$

$$C_{1} = \frac{\sqrt{-6a_{2} (a_{3} \kappa^{2} + a_{3} \kappa \lambda + a_{3} \lambda^{2} - a_{4} \kappa \lambda)}}{a_{2}},$$

$$\delta = \frac{1}{24a_{2}^{2}} \left(-3b_{1} \sqrt{-(a_{3} \lambda^{2} + \kappa (a_{3} - a_{4}) \lambda + a_{3} \kappa^{2})a_{2}} \left(\left(2 (b_{1}^{2} - 4b_{2}) (\kappa - \lambda) (a_{3} \kappa^{2} + a_{3} \kappa \lambda + a_{3} \lambda^{2} - a_{4} \kappa \lambda) + 4\omega\right)a_{2} + a_{1}^{2} (\kappa - \lambda)\right)\sqrt{6} + 2a_{1} (6\omega a_{2} + a_{1}^{2} (\kappa - \lambda))\right),$$
(3.3)

where b_1 and b_2 are arbitrary.

Plugging Eqs.(3.3) into Eq.(3.2), we can obtain

$$u(z) = \frac{\sqrt{-6a_2 (a_3 \kappa^2 + a_3 \kappa \lambda + a_3 \lambda^2 - a_4 \kappa \lambda)} b_1 - a_1}{2a_2} + \frac{\sqrt{-6a_2 (a_3 \kappa^2 + a_3 \kappa \lambda + a_3 \lambda^2 - a_4 \kappa \lambda)}}{a_2} \exp(-\varphi(z)).$$
(3.4)

Employing Eqs.(2.5) to (2.11) into Eq.(3.4) respectively, attains the exact solutions to the (2+1)-dimensional combined KdV-mKdV equation in the following.

Case 1.1. When $b_1^2 - 4b_2 > 0$, $b_2 \neq 0$,

$$u_{11}(z) = \frac{\sqrt{-6a_2 (a_3 \kappa^2 + a_3 \kappa \lambda + a_3 \lambda^2 - a_4 \kappa \lambda)}b_1 - a_1}{2a_2} \\ - \frac{2b_2 \sqrt{-6a_2 (a_3 \kappa^2 + a_3 \kappa \lambda + a_3 \lambda^2 - a_4 \kappa \lambda)}}{a_2(\sqrt{(b_1^2 - 4b_2)} \tanh(\frac{\sqrt{b_1^2 - 4b_2}}{2}(z + \zeta)) + b_1)}, \\ u_{12}(z) = \frac{\sqrt{-6a_2 (a_3 \kappa^2 + a_3 \kappa \lambda + a_3 \lambda^2 - a_4 \kappa \lambda)}b_1 - a_1}{2a_2} \\ - \frac{2b_2 \sqrt{-6a_2 (a_3 \kappa^2 + a_3 \kappa \lambda + a_3 \lambda^2 - a_4 \kappa \lambda)}}{a_2(\sqrt{(b_1^2 - 4b_2)} \coth(\frac{\sqrt{b_1^2 - 4b_2}}{2}(z + \zeta)) + b_1)}.$$

Case 1.2. When $b_1^2 - 4b_2 < 0, b_2 \neq 0$,

$$\begin{split} u_{13}(z) = & \frac{\sqrt{-6a_2 \left(a_3 \,\kappa^2 + a_3 \,\kappa \,\lambda + a_3 \,\lambda^2 - a_4 \,\kappa \,\lambda\right)} b_1 - a_1}{2a_2} \\ &+ \frac{2b_2 \sqrt{-6a_2 \left(a_3 \,\kappa^2 + a_3 \,\kappa \,\lambda + a_3 \,\lambda^2 - a_4 \,\kappa \,\lambda\right)}}{a_2 \left(\sqrt{(4b_2 - b_1^2)} \tan\left(\frac{\sqrt{4b_2 - b_1^2}}{2} (z + \varsigma)\right) - b_1\right)}, \\ u_{14}(z) = & \frac{\sqrt{-6a_2 \left(a_3 \,\kappa^2 + a_3 \,\kappa \,\lambda + a_3 \,\lambda^2 - a_4 \,\kappa \,\lambda\right)}}{2a_2} \\ &+ \frac{2b_2 \sqrt{-6a_2 \left(a_3 \,\kappa^2 + a_3 \,\kappa \,\lambda + a_3 \,\lambda^2 - a_4 \,\kappa \,\lambda\right)}}{a_2 \left(\sqrt{(4b_2 - b_1^2)} \cot\left(\frac{\sqrt{4b_2 - b_1^2}}{2} (z + \varsigma)\right) - b_1\right)}. \end{split}$$

Case 1.3. When $b_1^2 - 4b_2 > 0$, $b_1 \neq 0$, $b_2 = 0$,

$$u_{15}(z) = \frac{\sqrt{-6a_2 (a_3 \kappa^2 + a_3 \kappa \lambda + a_3 \lambda^2 - a_4 \kappa \lambda)b_1 - a_1}}{2a_2} + \frac{\sqrt{-6a_2 (a_3 \kappa^2 + a_3 \kappa \lambda + a_3 \lambda^2 - a_4 \kappa \lambda)b_1}}{a_2(\exp(b_1(z+\varsigma)) - 1)}.$$

Case 1.4. When $b_1^2 - 4b_2 = 0$, $b_1 \neq 0$, $b_2 \neq 0$,

$$u_{16}(z) = \frac{\sqrt{-6a_2(a_3\kappa^2 + a_3\kappa\lambda + a_3\lambda^2 - a_4\kappa\lambda)b_1 - a_1}}{2a_2} - \frac{b_1^2(z+\zeta)\sqrt{-6a_2(a_3\kappa^2 + a_3\kappa\lambda + a_3\lambda^2 - a_4\kappa\lambda)}}{2a_2(b_1(z+\zeta)+2)}.$$

Case 1.5. When $b_1^2 - 4b_2 = 0$, $b_1 = 0$, $b_2 = 0$,

$$u_{17}(z) = \frac{\sqrt{-6a_2(a_3 \kappa^2 + a_3 \kappa \lambda + a_3 \lambda^2 - a_4 \kappa \lambda)}b_1 - a_1}{2a_2} + \frac{\sqrt{-6a_2(a_3 \kappa^2 + a_3 \kappa \lambda + a_3 \lambda^2 - a_4 \kappa \lambda)}}{a_2(z + \varsigma)}.$$

Case 2.

$$C_{0} = -\frac{\sqrt{-6a_{2}(a_{3}\lambda^{2} + a_{3}\kappa\lambda + a_{3}\kappa^{2} - a_{4}\kappa\lambda)b_{1} + a_{1}}}{2a_{2}},$$

$$C_{1} = -\frac{\sqrt{-6a_{2}(a_{3}\lambda^{2} + a_{3}\kappa\lambda + a_{3}\kappa^{2} - a_{4}\kappa\lambda)}}{a_{2}},$$

$$\delta = \frac{1}{24a_{2}^{2}} \left(3b_{1}\sqrt{-(a_{3}\lambda^{2} + \kappa(a_{3} - a_{4})\lambda + a_{3}\kappa^{2})a_{2}}\left((2(b_{1}^{2} - 4b_{2})(a_{3}\kappa^{2} + a_{3}\kappa\lambda + a_{3}\lambda^{2} - a_{4}\kappa\lambda) + 4\omega\right)a_{2} + a_{1}^{2}(\kappa - \lambda)\left(\sqrt{6} + 2a_{1}(6\omega a_{2} + a_{1}^{2}(\kappa - \lambda))\right),$$
(3.5)

where b_1 and b_2 are arbitrary constants. Plugging Eqs.(3.5) into Eq.(3.2), we can obtain

$$u(z) = -\frac{\sqrt{-6a_2(a_3\lambda^2 + a_3\kappa\lambda + a_3\kappa^2 - a_4\kappa\lambda)}b_1 + a_1}{2a_2} -\frac{\sqrt{-6a_2(a_3\lambda^2 + a_3\kappa\lambda + a_3\kappa^2 - a_4\kappa\lambda)}}{a_2}\exp(-\varphi(z)).$$
(3.6)

Employing Eqs.(2.5) to (2.11) into Eq.(3.6) respectively, attains the exact solutions to the (2+1)-dimensional combined KdV-mKdV equation in the following.

Case 2.1. When $b_1^2 - 4b_2 > 0$, $b_2 \neq 0$,

$$\begin{split} u_{21}(z) &= -\frac{\sqrt{-6a_2 (a_3 \lambda^2 + a_3 \kappa \lambda + a_3 \kappa^2 - a_4 \kappa \lambda)}b_1 + a_1}{2a_2} \\ &+ \frac{2b_2 \sqrt{-6a_2 (a_3 \lambda^2 + a_3 \kappa \lambda + a_3 \kappa^2 - a_4 \kappa \lambda)}}{a_2 (\sqrt{(b_1^2 - 4b_2)} \tanh(\frac{\sqrt{b_1^2 - 4b_2}}{2}(z + \zeta)) + b_1)}, \\ u_{22}(z) &= -\frac{\sqrt{-6a_2 (a_3 \lambda^2 + a_3 \kappa \lambda + a_3 \kappa^2 - a_4 \kappa \lambda)}b_1 + a_1}{2a_2} \\ &+ \frac{2b_2 \sqrt{-6a_2 (a_3 \lambda^2 + a_3 \kappa \lambda + a_3 \kappa^2 - a_4 \kappa \lambda)}}{a_2 (\sqrt{(b_1^2 - 4b_2)} \coth(\frac{\sqrt{b_1^2 - 4b_2}}{2}(z + \zeta)) + b_1)}. \end{split}$$

Case 2.2. When $b_1^2 - 4b_2 < 0, b_2 \neq 0$,

$$u_{23}(z) = -\frac{\sqrt{-6a_2(a_3\lambda^2 + a_3\kappa\lambda + a_3\kappa^2 - a_4\kappa\lambda)}b_1 + a_1}{2a_2}$$
$$-\frac{2b_2\sqrt{-6a_2(a_3\lambda^2 + a_3\kappa\lambda + a_3\kappa^2 - a_4\kappa\lambda)}}{a_2(\sqrt{(4b_2 - b_1^2)}\tan(\frac{\sqrt{4b_2 - b_1^2}}{2}(z+\zeta)) - b_1)},$$

$$u_{24}(z) = -\frac{\sqrt{-6a_2(a_3\lambda^2 + a_3\kappa\lambda + a_3\kappa^2 - a_4\kappa\lambda)}b_1 + a_1}{2a_2} -\frac{2b_2\sqrt{-6a_2(a_3\lambda^2 + a_3\kappa\lambda + a_3\kappa^2 - a_4\kappa\lambda)}}{a_2(\sqrt{(4b_2 - b_1^2)}\cot(\frac{\sqrt{4b_2 - b_1^2}}{2}(z+\zeta)) - b_1)}.$$

Case 2.3. When $b_1^2 - 4b_2 > 0$, $b_1 \neq 0$, $b_2 = 0$,

$$u_{25}(z) = -\frac{\sqrt{-6a_2(a_3\lambda^2 + a_3\kappa\lambda + a_3\kappa^2 - a_4\kappa\lambda)}b_1 + a_1}{2a_2} -\frac{\sqrt{-6a_2(a_3\lambda^2 + a_3\kappa\lambda + a_3\kappa^2 - a_4\kappa\lambda)}b_1}{a_2(\exp(b_1(z+\zeta)) - 1)}.$$

Case 2.4. When $b_1^2 - 4b_2 = 0$, $b_1 \neq 0$, $b_2 \neq 0$,

$$u_{26}(z) = -\frac{\sqrt{-6a_2 (a_3 \lambda^2 + a_3 \kappa \lambda + a_3 \kappa^2 - a_4 \kappa \lambda)}b_1 + a_1}{2a_2} + \frac{b_1^2 (z+\varsigma)\sqrt{-6a_2 (a_3 \lambda^2 + a_3 \kappa \lambda + a_3 \kappa^2 - a_4 \kappa \lambda)}}{2a_2 (b_1 (z+\varsigma) + 2)}.$$

Case 2.5. When $b_1^2 - 4b_2 = 0$, $b_1 = 0$, $b_2 = 0$,

$$u_{27}(z) = -\frac{\sqrt{-6a_2(a_3\lambda^2 + a_3\kappa\lambda + a_3\kappa^2 - a_4\kappa\lambda)}b_1 + a_1}{2a_2} -\frac{\sqrt{-6a_2(a_3\lambda^2 + a_3\kappa\lambda + a_3\kappa^2 - a_4\kappa\lambda)}}{a_2(z+\varsigma)}.$$

4. Computer simulations

In this section, the results are illustrated by computer simulations respectively.



Figure 4.1: 3D profile of $u_{11}(z)$ for $a_1 = 1.2$, $a_2 = 0.3$, $a_3 = -0.2$, $a_4 = 0.8$, $\kappa = 1$, $\lambda = 1$, t = 1, $\omega = 2$, $\zeta = -1$, $b_1 = 4$, and $b_2 = 3$.



Figure 4.2: 3D profile of $u_{12}(z)$ for $a_1 = 1.2$, $a_2 = 0.3$, $a_3 = -0.2$, $a_4 = 0.8$, $\kappa = 1$, $\lambda = 1$, t = 1, $\omega = 2$, $\zeta = -1$, $b_1 = 4$, and $b_2 = 3$.



Figure 4.3: 3D profile of $u_{13}(z)$ for $a_1 = 1.2$, $a_2 = 0.3$, $a_3 = -0.2$, $a_4 = 0.8$, $\kappa = \frac{1}{10}$, $\lambda = 1$, t = 1, $\omega = 2$, $\zeta = -1$, $b_1 = 4$, and $b_2 = 5$.



Figure 4.4: 3D profile of $u_{14}(z)$ for $a_1 = 1.2$, $a_2 = 0.3$, $a_3 = -0.2$, $a_4 = 0.8$, $\kappa = \frac{1}{10}$, $\lambda = 1$, t = 1, $\omega = 2$, $\zeta = -1$, $b_1 = 4$, and $b_2 = 5$.



Figure 4.5: 3D profile of $u_{15}(z)$ for $a_1 = 1.2$, $a_2 = 0.3$, $a_3 = -0.2$, $a_4 = 0.8$, $\kappa = 1$, $\lambda = 1$, t = 1, $\omega = 2$, $\varsigma = -1$, and $b_1 = 1$.



Figure 4.6: 3D profile of $u_{16}(z)$ for $a_1 = 1.2$, $a_2 = 0.3$, $a_3 = -0.2$, $a_4 = 0.8$, $\kappa = 1$, $\lambda = 1$, t = 1, $\omega = 2$, $\varsigma = -1$, and $b_1 = 1$.

5. Conclusion

In this study, we use the $\exp(-\varphi(z))$ -expansion method to obtain abundant new exact solutions to the (2+1)-dimensional combined KdV-mKdV equation. Except the types of hyperbolic and exponential function solutions which are the same as those of Sandeep Malik's paper [25], we also get new types of function solutions including trigonometric and rational solutions. Additionally, the results indicate that utilizing the $\exp(-\varphi(z))$ -expansion method to the combined KdV-mKdV equation and the (2+1)-dimensional combined KdV-mKdV equation can get the same forms of solutions, while the solutions to the (2+1)-dimensional combined KdV-mKdV equation have one more case. These solutions can widely stimulate mathematicians and physicists' interest and have potential value to be applied in mathematics and physics. Meanwhile, the effectiveness of the $\exp(-\varphi(z))$ -expansion method to seek exact solutions for nonlinear differential equations can be seen from the obtained results.

Acknowledgement

The authors would like to express their sincere thanks to the editor and the anonymous reviewers for their helpful comments and suggestions.

Funding

Guangzhou Science and Technology Plan Project (202201011602).

Availability of data and materials

Not applicable.

Competing interests

The authors declare that they have no competing interests.

Author's contributions

All authors contributed equally to the writing of this paper. All authors read and approved the final manuscript.

References

- [1] M. E. Ali, F. Bilkis, G. C. Paul, D. Kumar, H. Naher, Lump, lump-stripe, and breather wave solutions to the (2+1)-dimensional Sawada-Kotera equation in fluid mechanics, Heliyon, 7(9) (2021), e07966.
- [2] O. D. Adeyemo, C. M. Khalique, Stability analysis, symmetry solutions and conserved currents of a two-dimensional extended shallow water wave equation of fluid mechanics, Partial Differ. Eq. Appl. Math., 4 (2021), 100134.
- [3] Z. Yin, Chirped envelope solutions of short pulse propagation in highly nonlinear optical fiber, Optik, 242 (2021), 167318.
 [4] Y. Cai, C.-L. Bai, Q.-L. Luo, H.-Z. Liu, Mixed-type vector solitons for the (2+1)-dimensional coupled higher-order nonlinear Schrödinger equations in optical fibers, Eur. Phys. J. Plus, 135 (2020), 405.
- [5] C. Chen, X. Zhang, G. Zhang, Y. Zhang, A two-grid finite element method for nonlinear parabolic integro-differential equations, Int. J. Comput. Math.,
- (5) C. Chen, K. Zhang, Y. Chen, X. Tang, Rogue wave and a pair of resonance stripe solitons to KP equation, Comput. Math. Appl., 76 (2018), 1938-1949.
 [6] X. Zhang, Y. Chen, X. Tang, Rogue wave and a pair of resonance stripe solitons to KP equation, Comput. Math. Appl., 76 (2018), 1938-1949.
 [7] C. Chen, K. Li, Y. Chen, Y. Huang, Two-grid finite element methods combined with Crank-Nicolson scheme for nonlinear Sobolev equations, Adv. Comput. Math., 45 (2019), 611-630.
- [8] J. Ji, Y. Guo, L. Zhang, L. Zhang, 3D Variable Coefficient KdV Equation and Atmospheric Dipole Blocking, Adv. Meteorol., 2018(2018), 4329475.
- [9] İ. Çelik, Chebyshev Wavelet collocation method for solving a class of linear and nonlinear nonlocal boundary value problems, Fundam. J. Math. Appl., 1(1) (2018), 25-35.
- [10] N. Bouteraa, S. Benaicha, Existence of solutions for nonlocal boundary value problem for Caputo nonlinear fractional differential inclusion, J. Math. Sci. Model., 1(1) (2018), 45-5
- [11] N. Bouteraa, S. Benaicha, H. Djourdem, Positive solutions for nonlinear fractional differential equation with nonlocal boundary conditions, Universal J. Math. Appl., 1(1) (2018), 39-45.
- [12] H. Djourdem, S. Benaicha, Solvability for a nonlinear third-order three-point boundary value problem, Universal J. Math. Appl., 1(2) (2018), 125-131. [13] S. Kumar, K. Nisar, A. Kumar, A (2+1)-dimensional generalized Hirota-Satsuma-Ito equations: Lie symmetry analysis, invariant solutions and dynamics

of soliton solutions, Results Phys., 28 (2021), 104621.

- [14] R. Hirota, *Exact solution of the Korteweg-de Vries equation for multiple collisions of solitons*, Phys. Rev. Lett., 27(18) (1971), 1192.
 [15] R. Hirota, *Exact solution of the modified Korteweg-de Vries equation for multiple collisions of solitons*, J. Phys. Soc. Jpn., 33(5) (1972), 1456-1458.
 [16] Y. Gu, F. Meng, *Searching for analytical solutions of the (2+1)-dimensional KP equation by two different systematic methods*, Complexity, 2019 (2019),
- 9314693 [17] M. Zhao, C. Li, The exp $(-\varphi(\xi))$ -expansion method applied to nonlinear evolution equations, China Science and Technology Online, **2008** (2008),
- [18] S. M. R. Islam, K. Khan, M. A. Akbar, Study of exp $(-\phi(\xi))$ -expansion method for solving nonlinear partial differential Equations, British J. Math. & Comput. Sci., 5(3) (2015), 397-407.
- [19] H. Roshid, M. Rahman, The exp $(-\Phi(\eta))$ -expansion method with application in the (1+1)-dimensional classical Boussinesq equations, Results Phys., 4(2014), 150-155.
- [20] Y. Gu, Analytical solutions to the Caudrey-Dodd-Gibbon-Sawada-Kotera equation via symbol calculation approach, J. Funct. Space., 2020 (2020),
- [21] X. Pu, M. Li, KDV limit of the hydromagnetic waves in cold plasma, Z. Angew. Math. Phys., 70 (2019), 32.
- [22] S. Matsuo, K. I. Matsuda, H. Ninomiya, K. Nagai, N. Hatakenaka, Theory of a single-photon generation by phononic KdV solitons in crystals, physica status solidi(c), **1**(11) (2004), 2769-2772. [23] J.-G. Liu, W.-H. Zhu, Z.-Q. Lei, G.-P. Ai, *Double-periodic soliton solutions for the new* (2+1)-dimensional KdV equation in fluid flows and plasma
- physics, Anal. Math. Phys., 10 (2020), 41.
- [24] G. Wang, A. H. Kara, A (2+1)-dimensional KdV equation and mKdV equation: Symmetries, group invariant solutions and conservation laws, Phys. Lett. A, 383(8) (2019), 728-731.
- [25] S. Malik, S. Kumar, A. Das, A (2+1)-dimensional combined KdV-mKdV equation: integrability, stability analysis and soliton solutions, Nonlinear Dynam., 107 (2022), 2689-2701.